
BILL OF MATERIAL

QTYDESCRIPTIONITEM

1LEFT SIDE FRAME1

1RIGHT SIDE FRAME2

1LOWER ATTACHMENT3

1UPPER ATTACHMENT4

2SCREW M6 x 355

2SCREW M6 x 256

2SCREW M5 x 207

14SCREW M5 x 168

2SELF-LOCKING NUT M69

14SELF-LOCKING NUT M510

4SCHNORR WASHER M611

14WASHER M512

TRIKE - KING CARRIER

AZUB BIKE s.r.o.   I   www.azub.eu   I   info@azub.eu                                            page 1

TOOLS:

3 mm
4 mm
5 mm

1 2

3 4

77

10 x

84 x

124 x

104 x

10 x

10 x

4

3

2

1

114 x

52 x

62 x

8

12

10

8 mm

Medium strength 
thread locker 
(blue Loctite)

APPLY TO ALL SCREWS!


